B VCE & PDF https://lwww.geekcert.com/c1000-091.html
' 2024 Latest geekcert C1000-091 PDF and VCE dumps Download
: GeekCert.com

C1000-09195%As

IBM Cloud Pak for Automation v19.0.3 Administration

Pass IBM C1000-091 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/c1000-091.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest C1000-091 Dumps | C1000-091 PDF Dumps | C1000-091 VCE Dumps 1/3


https://www.geekcert.com/c1000-091.html
https://www.geekcert.com/c1000-091.html
https://www.geekcert.com/c1000-091.html

VCE & PDF https://lwww.geekcert.com/c1000-091.html
2024 Latest geekcert C1000-091 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which of the following is a good practice to ensure that less data is lost after a crash?
A. Backup all of the available data from the original disk.

B. Keep the backup device connected and active at all times.

C. Use the same disk as the original hardware to backup the data.

D. Keep the time interval between backups to a short time.

Correct Answer: C

QUESTION 2

What is the Curator cluster logging component used for?

A. It runs in the background to index log messages sent to Elasticsearch.

B. It works with Fluentd to collect logs from containers.

C. It performs scheduled maintenance operations on a global and/or per-project basis.
D. It forwards events to cluster logging.

Correct Answer: A

https://access.redhat.com/documentation/en-us/openshift_container_platform/4.4/html/logging/cluster-logging

QUESTION 3

To be able to securely connect Rule Designer to the Decision Server and Decision Center components that are running
in OpenShift, a TLS connection must be established through a security certificate.

Where do SSL properties need to be added for Rule Designer to make this connection?
A. WebSphere 100.xml file

B. Decision Server swagger file

C. eclipse.ini file

D. Decision Center administration console

Correct Answer: D

QUESTION 4
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Where is the number of replicas defined for IBM Automation Digital Worker, when high availability is required?
A. In the route definitions of the Digital Worker

B. In the worker node configuration

C. In the secret.yaml file for ADW

D. In the Custom Resource (CR) definition

Correct Answer: D

https://www.ibm.com/support/knowledgecenter/SSYHZ8 20.0.x/com.ibm.dba.managing/op_topics/tsk_adw_prepare_fa
ult_tol.html

QUESTION 5

Which two statements are true about User Management Services (UMS)?

A. Provides an authentication scheme that is based on the open standards OpenlID Connect and OAuth 2.0
B. Provides an authentication scheme that is based on SAML

C. Provides a common registry for components to store information

D. Provides a common login page for some of the IBM Cloud Pak for Automation components

E. Provides a common login page for all of the IBM Cloud Pak for Automation components

Correct Answer: BE
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